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3. [Z1A A dnkate 29,791 19,791 10,000
1.8 29,791 19,791 10,000 igiﬁi@iifﬁigw ) - 10,000,000
4. [=]3pd4 e 880 880 0
1. g RkE8H 880 880 0
5.[&]132 #e 3,024 3,024 0
1. dRkE8n) 3,024 3,024 0
3.8t ¥ 1,900 1,900 0
1.3t -4 91384 900 900 0
L[z]gad s 900 900 0
1.o91] 100 100 0
2. W 520 800 800 0
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2.3 nyY 1,000 1,000 0
1.[Z]P R3] 750 750 0
1,995} 450 450 0
2. 5G] 300 300 0
2. [Z]gFELS 250 250 0
1.99n) 100 100 0
2. Rkl Fxm] 150 150 0
7.8 0 AF-LE 0 7,017|  -7,017
1. en)n] 0 7,017| 7,017
1. oju]H] 0 7,017|  -7,017
1. [Z]eln]n) 0 7,017 -7,017
1. o874 0 7,017 =7,017| 258 dH]e] © -7,017,0009 x14]= ~7,017,000
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